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What is |0 less than 27?

Round 6,429 to the nearest 100

How many full bottles of water will the jug hold?

Which is longer, I30 seconds or 2 minutes?
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Calculate 6,987 — 1,999

Round 8,888 to the nearest 100

Work out the missing number.

6,980,001 = 6,000,000 + ? + 80,000 + |

A TV program lasts 90 minutes.
It starts at 1345
What time does it finish?
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84,300 — 44,300

Round 7,199 to the nearest |,000

Write 7,984,002 in words

Which shape has a greater volume?
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220 X 20 =440 X ?

Calculate —I12 + 13

Put the numbers in ascending order.

99/9 9,799 9997 9,797

A jug has a capacity of 2 litres.
A carton contains HOO ml of juice.

How many cartons will fill the jug?
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Work out the missing number.

2,222 X 12 = 2222 X |0

Calculate 97 — 100

What number is half way between 5,500 and 6,5007

Which is longer .5 hours or | hour and 5 minutes?
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Calculate 65 = I3

What is four thousand and five add three thousand and
two?

Use < or > to compare the numbers. 19,999 O 100,000

Annie is at point A facing the bank.
She turns 90° clockwise.

Where is Annie facing now?
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Calculate 939 = 3

6,710 + 4,290

Which is greater, five million or 500,0007?
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) Calculate 864 — Y

3) Round M5 to the nearest |10

4Y)  Does the angle measure 125°?
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Calculate 6,322 X H

Round 3,099 to the nearest 100

Is angle X acute or obtuse?
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Use the fact that H08 — Y4 = 102 to work out

the missing number.
816 = 102
62 X5 =7?XI10

Round 123,400 to the nearest 100,000

Calculate the missing angle.




